Station #5 – Similar Triangles
1) Find a and b for the two similar triangles:
[image: ]

2) Consider the picture shown below:
[image: ]
a) Use the Pythagorean Theorem to find the value of a.



b) Prove that the triangles ABE and ACD are similar.





c) Use similar triangles to find the value of x.



d) Find the value of b



3) [image: ]A person is standing 40 ft away from a street light that is 30 ft tall.  How tall is he if his shadow is 10 ft long?




4) Find x, y and h (hint, use Pythagorean Theorem): 


Station #1 – Parallel and Transversal Lines
1) Name the relationship between the measured angle, then find x:
[image: ]                [image: ]                 [image: ]
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Station #2 – Triangle Proofs (Part 1)
1) [image: ]
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Station #3 – Triangle Proofs (Part 2)
1) [image: ]
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Station #4 – Parallelogram Proofs
1) [image: ][image: ][image: ]Solve for x:
a) 							b) 
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Given: 4B || DC; 4D || BC
Prove: £3=25
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Given: 4B || DC; 4D || BC
Prove: Z1=22
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Given: M is the midpoint of RS ®
M is the midpoint of XY

Prove: A RMX = ASMY X W

Statement Reason

1. Given

-

2. Definition of Midpoint

3. Given

4. Definition of Midpoint

5. Vertical Angles

SN

6. SAS Triangle Congruence Shortcut





image10.png
Givan:E_C /| AB
AD // BC

Prove: A ABC = ACDA

Statement

Reason

=

2.4D || BC

3.41 =13

4.42 =14

5.4C = AC

6.AABC = ACDA

ololslelr





image11.png
Given: )TE_// 6%
RS bisects XY
RX = gv X M Y
Prove: A RMX = ASMY
s
Statement Reason
1 1. Given
2. Given
3. Given

4.Definition of Bisector

5. Alternate Interior Angles

oo |+ @ p

6. SAS Triangle Congruence Shortcut





image12.png
Statements

Reasons

. ZRST = ZPRQ

. ARST = APRQ





image13.png
In the figure at the right, ABCD is a square.
Points M and N are the midpoints of AB and
BC, respectively.

a. The flowchart below outlines a proof that shows
AN = DM. Copy and complete the flowchart.
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Given: PQ||SR; PO=SR
Prove: PS=0R
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Given: AECF is a parallelogram;
FD=BE

Prove: AD=BC
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